
0 10000 20000 30000 40000 50000
sum

0

50

100

150

200

250

300

350

400

3
10×

Run 4535 triggerwise, sums: All

Entries: 3394077

Mean: 4354.7855 +/- 2.4509

Std Dev: 4515.3763 +/- 1.7331

Run 4535 triggerwise, sums: All

0 5000 10000 15000 20000 25000 30000 35000 40000 45000
sum

0

200

400

600

800

1000

1200

1400

1600

1800

2000

2200

Run 4535 triggerwise, sums: Beam OFF

Entries: 6464

Mean: 908.1818 +/- 10.2888

Std Dev: 827.2094 +/- 7.2753

Run 4535 triggerwise, sums: Beam OFF
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Run 4535 triggerwise, sums: Beam ON, Laser ON

Helicity==0

Helicity==1
Entries: 920495

Mean: 5410.8235 +/- 5.7403

Std Dev: 5507.3839 +/- 4.0590

Entries: 919237

Mean: 5411.4744 +/- 5.7376

Std Dev: 5500.9882 +/- 4.0571

Run 4535 triggerwise, sums: Beam ON, Laser ON
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Run 4535 triggerwise, sums: Beam ON, Laser OFF

Helicity==0

Helicity==1
Entries: 744775

Mean: 3076.4909 +/- 2.6489

Std Dev: 2286.0414 +/- 1.8731

Entries: 745588

Mean: 3083.3235 +/- 2.6381

Std Dev: 2277.9373 +/- 1.8654

Run 4535 triggerwise, sums: Beam ON, Laser OFF
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